



Research article

Ground state sign-changing solutions for fractional Laplacian equations with critical nonlinearity

Mengyu Wang, Xinmin Qu and Huiqin Lu*

School of Mathematics Statistics, Shandong Normal University, Jinan, 250358, PR China

* **Correspondence:** Email: lhy0625@163.com.

Abstract: In this paper, we investigate the existence of the least energy sign-changing solutions for nonlinear elliptic equations driven by nonlocal integro-differential operators with critical nonlinearity. By using constrained minimization method and topological degree theory, we obtain a least energy sign-changing solution for them under much weaker conditions. As a particular case, we drive an existence theorem of sign-changing solutions for the fractional Laplacian equations with critical growth.

Keywords: fractional Laplacian equation; sign-changing solution; Ekeland’s variational principle; Brouwer’s degree theory; variational methods

Mathematics Subject Classification: 35J65, 47J05, 47J30

1. Introduction

This paper is mainly concerned with the existence of the least energy sign-changing solutions for the following nonlocal elliptic equations

$$\begin{cases} -\mathcal{L}_K u = |u|^{2^*-2}u + \lambda f(x, u) & \text{in } \Omega, \\ u = 0 & \text{in } \mathbb{R}^N \setminus \Omega, \end{cases} \tag{1.1}$$

where \mathcal{L}_K is the integro-differential operator defined as follows:

$$\mathcal{L}_K u(x) = \frac{1}{2} \int_{\mathbb{R}^N} (u(x+y) + u(x-y) - 2u(x))K(y)dy, \quad x \in \mathbb{R}^N,$$

here $K : \mathbb{R}^N \setminus \{0\} \rightarrow (0, +\infty)$ is a function with the properties that

(K₁) $mK \in L^1(\mathbb{R}^N)$, where $m(x) = \min\{|x|^2, 1\}$;

(K₂) there exist $\gamma > 0$ and $s \in (0, 1)$ such that $K(x) \geq \gamma|x|^{-(N+2s)}$ for any $x \in \mathbb{R}^N \setminus \{0\}$.

And λ is a positive real parameter, the nonlinear term f satisfies the following conditions:

(f₁) $f : \Omega \times \mathbb{R} \rightarrow \mathbb{R}$ is a Carathéodory function, and there exist $C > 0$ and $q \in (2, 2^*)$ such that $|f(x, t)| \leq C(1 + |t|^{q-1})$, *a.e.* $x \in \Omega$, $t \in \mathbb{R}$;

(f₂) $\lim_{t \rightarrow 0} \frac{f(x, t)}{t} = 0$ uniformly in $x \in \Omega$;

(f₃) $\frac{f(x, t)}{t}$ is strictly increasing in $|t| > 0$ for *a.e.* $x \in \Omega$.

As an example for f we can take the function $f(x, t) = e^{|x|} |t|^{q-2} q$, with $x \in \Omega$, $t \in \mathbb{R}$ and $q \in (2, 2^*)$.

A typical model for K is given by the singular kernel $K(x) = |x|^{-(N+2s)}$ which coincides with the fractional Laplace operator $-(-\Delta)^s$ of the following fractional Laplacian equations

$$\begin{cases} (-\Delta)^s u = |u|^{2^*-2} u + \lambda f(x, u) & \text{in } \Omega, \\ u = 0 & \text{in } \mathbb{R}^N \setminus \Omega, \end{cases} \quad (1.2)$$

where

$$-(-\Delta)^s u(x) = \frac{1}{2} \int_{\mathbb{R}^N} \frac{u(x+y) + u(x-y) - 2u(x)}{|y|^{N+2s}} dy, \quad x \in \mathbb{R}^N,$$

where λ is a positive real parameter.

In problem (1.1) and problem (1.2), the set $\Omega \subset \mathbb{R}^N$ ($N > 2s$) is an open bounded with Lipschitz boundary and $2^* := \frac{2N}{N-2s}$ is the fractional critical Sobolev exponent.

The operator $(-\Delta)^s$ can be seen as the infinitesimal generators of Lévy stable diffusion Processes, see [1] for example. It is easy to see that the integro-differential operator \mathcal{L}_K is a generalization of the fractional Laplace operator $-(-\Delta)^s$. Elliptic equations involving nonlocal integro-differential operators appear frequently in many different areas of research and find many applications in engineering and finance, including statistical mechanics, fluid flow, pricing of financial instruments, and portfolio optimization, see [2–4]. In the past few years, a great deal of attention has been devoted to nonlocal operators of elliptic type, both for their interesting theoretical structure and in view of concrete applications, see [5–12] and the references therein. By minimax method, invariant sets of descending flow method or constrained minimization method, many authors obtained the existence results of sign-changing solutions of some nonlinear elliptic equations, see [13–20]. To show their results, the authors always assumed the nonlinearity $f(x, t)$ is subcritical and/or $f(x, t)$ satisfies (AR) condition and/or $f(x, t)$ is differentiable with respect to t . The existence of nontrivial solutions, positive solutions, negative solutions and sign-changing solutions, for nonlocal elliptic problem (1.1) has been investigated by using variational method, fixed point index theory and critical point theorems, see [2–4, 12, 20].

Motivated by the papers mentioned above, the main purpose of this paper is to establish the existence of sign-changing solution for problem (1.1) and problem (1.2) under much weaker conditions.

We define the sets X and E as

$$X = \{u \mid u : \mathbb{R}^N \rightarrow \mathbb{R}, u|_{\Omega} \in L^2(\Omega) \text{ and } (u(x) - u(y)) \sqrt{K(x-y)} \in L^2(\mathbb{R}^{2N} \setminus \mathcal{O})\},$$

and

$$E = \{g \mid g \in X \text{ and } g = 0 \text{ a.e. in } \mathbb{R}^N \setminus \Omega\},$$

where $u|_{\Omega}$ represents the restriction to Ω of function $u(x)$, $O = (\mathbb{R}^N \setminus \Omega) \times (\mathbb{R}^N \setminus \Omega)$.

We note that E is non-empty and

$$\|g\| := \left(\int_{\mathbb{R}^{2N}} |g(x) - g(y)|^2 K(x - y) dx dy \right)^{\frac{1}{2}} \quad (1.3)$$

is a norm on E , equivalent to the standard one (see [2,3]). Also, $(E, \|\cdot\|)$ is a Hilbert space and

$$(u, v) := \int_{\mathbb{R}^{2N}} (u(x) - u(y))(v(x) - v(y))K(x - y) dx dy, \quad \forall u, v \in E. \quad (1.4)$$

For any $\lambda > 0$ fixed, we define the the energy functional $\mathcal{J}_\lambda : E \rightarrow \mathbb{R}$ by

$$\mathcal{J}_\lambda(u) = \frac{1}{2} \int_{\mathbb{R}^{2N}} |u(x) - u(y)|^2 K(x - y) dx dy - \frac{1}{2^*} \int_{\Omega} |u(x)|^{2^*} dx - \lambda \int_{\Omega} F(x, u(x)) dx, \quad u \in E. \quad (1.5)$$

Under the condition (f_1) , by standard argument, it is easy to obtain that $\mathcal{J}_\lambda \in C^1(E, \mathbb{R})$ and

$$\begin{aligned} \langle \mathcal{J}'_\lambda(u), v \rangle &= \int_{\mathbb{R}^{2N}} (u(x) - u(y))(v(x) - v(y))K(x - y) dx dy \\ &\quad - \int_{\Omega} |u(x)|^{2^*-2} u(x)v(x) dx - \lambda \int_{\Omega} f(x, u(x))v(x) dx, \quad u, v \in E. \end{aligned} \quad (1.6)$$

It is easy to see that for $u \in E$

$$\|u\|^2 = \|u^+\|^2 + \|u^-\|^2 - \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x - y) dx dy \geq \|u^+\|^2 + \|u^-\|^2, \quad (1.7)$$

$$\mathcal{J}_\lambda(u) = \mathcal{J}_\lambda(u^+) + \mathcal{J}_\lambda(u^-) - \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x - y) dx dy,$$

and

$$\langle \mathcal{J}'_\lambda(u), u^+ \rangle = \langle \mathcal{J}'_\lambda(u^+), u^+ \rangle - \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x - y) dx dy.$$

Obviously, the critical points of \mathcal{J}_λ are equivalent to the weak solutions of problem (1.1). Furthermore, if $u \in E$ is a solutions of (1.1) and $u^\pm \neq 0$ in \mathbb{R}^N , then u is a sign-changing solution of (1.1), where $u^+(x) := \max\{u(x), 0\}$, $u^-(x) := \min\{u(x), 0\}$.

Lemma 1.1 [2] The embedding $E \hookrightarrow L^\nu(\mathbb{R}^N)$ is continuous if $\nu \in [1, 2^*]$ and compact if $\nu \in [1, 2^*)$, where $u \in L^\nu(\mathbb{R}^N)$ means $u = 0$ a.e. in $\mathbb{R}^N \setminus \Omega$.

The main results of this paper are the following theorems:

Theorem 1.1 Let $K : \mathbb{R}^N \setminus \{0\} \rightarrow (0, +\infty)$ be a function satisfying $(K_1) - (K_2)$ and assume that f satisfies $(f_1) - (f_3)$. Then, there exists $\lambda_* > 0$ such that for each $\lambda > \lambda_*$, problem (1.1) admits a least energy sign-changing solution.

Theorem 1.2 Assume that f satisfies $(f_1) - (f_3)$. Then, there exists $\lambda^* > 0$ such that for each $\lambda > \lambda^*$, problem (1.2) admits a least energy sign-changing solution.

2. Preliminaries

In this section we collect some preliminary lemmas which will be used in the next section to prove the existence of sign-changing solutions of problem (1.1) and problem (1.2).

Let

$$\mathcal{M} := \{u \in E : u^\pm \neq 0 \text{ and } \langle \mathcal{J}'_\lambda(u), u^+ \rangle = \langle \mathcal{J}'_\lambda(u), u^- \rangle = 0\}.$$

Lemma 2.1 If $u \in E$ with $u^\pm \neq 0$, then there exists a pair (t_λ, s_λ) of positive numbers such that $t_\lambda u^+ + s_\lambda u^- \in \mathcal{M}$.

Proof. For given $u \in E$ with $u^\pm \neq 0$, let $g_u, h_u : (0, +\infty) \times (0, +\infty) \rightarrow \mathbb{R}$ be two functions defined by

$$g_u(t, s) := t^2 \|u^+\|^2 - st \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy - t^{2^*} \int_{\Omega} |u^+|^{2^*} dx - \lambda \int_{\Omega} f(x, tu^+)tu^+ dx,$$

$$h_u(t, s) := s^2 \|u^-\|^2 - st \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy - s^{2^*} \int_{\Omega} |u^-|^{2^*} dx - \lambda \int_{\Omega} f(x, su^-)su^- dx.$$

It is obvious that $g_u(t, s) = \langle \mathcal{J}'_\lambda(tu^+ + su^-), tu^+ \rangle$, $h_u(t, s) = \langle \mathcal{J}'_\lambda(tu^+ + su^-), su^- \rangle$ and g_u, h_u are both continuous in $(0, +\infty) \times (0, +\infty)$.

From (f_1) and (f_2) , for any $\varepsilon > 0$, there exists $\delta(\varepsilon) > 0$ such that for a.e. $x \in \Omega$ and any $t \in \mathbb{R}$

$$|f(x, t)| \leq \varepsilon|t| + \delta(\varepsilon)|t|^{q-1}, \quad |F(x, t)| \leq \varepsilon|t|^2 + \delta(\varepsilon)|t|^q. \quad (2.1)$$

For $\varepsilon = \frac{\lambda_1}{4\lambda}$ in (2.1), there exists $c_1 > 0$ such that

$$|f(x, t)| \leq \frac{\lambda_1}{4\lambda}|t| + c_1|t|^{q-1} \quad a.e. x \in \Omega, t \in \mathbb{R}, \quad (2.2)$$

where $\lambda_1 = \min_{u \in E \setminus \{0\}} \frac{\int_{\mathbb{R}^N} |u(x)-u(y)|^2 K(x-y)dx dy}{\int_{\Omega} |u(x)|^2 dx}$ is the first eigenvalue of the operator $-\mathcal{L}_K$ with homogeneous Dirichlet boundary data. By using lemma 1.1 and (2.2), we have

$$g_u(t, s) \geq t^2 \|u^+\|^2 - t^{2^*} \int_{\Omega} |u^+|^{2^*} dx - \lambda \int_{\Omega} f(x, tu^+)tu^+ dx \geq \frac{t^2}{2} \|u^+\|^2 - c_2 t^{2^*} \|u^+\|^{2^*} - \lambda c_3 t^q \|u^+\|^q.$$

Since $2 < q < 2^*$, we can obtain that there exists $r_1 > 0$ small enough such that $g_u(t, s) > 0$ for all $s > 0$, $t \in (0, r_1]$. Similarly there exists $r_2 > 0$ small enough such that $h_u(t, s) > 0$ for all $t > 0$, $s \in (0, r_2]$.

By (f_1) – (f_3) and the second integral mean value theorem, we easily deduce that

$$\frac{1}{2}f(x, t)t - F(x, t) \text{ is strictly increasing in } |t| > 0 \text{ for a.e. } x \in \Omega. \quad (2.3)$$

and

$$\frac{1}{2}f(x, t)t - F(x, t) > 0, \quad F(x, t) > 0, \quad a.e. x \in \Omega, t \in \mathbb{R} \setminus \{0\}. \quad (2.4)$$

So we are

$$g_u(t, s) \leq t^2 \|u^+\|^2 - st \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy \\ - t^{2^*} \int_{\Omega} |u^+|^{2^*} dx \rightarrow -\infty, \text{ as } t \rightarrow +\infty,$$

since $2^* > 2$. Therefore, there exists $R_1 > 0$ sufficiently large such that $g_u(t, s) < 0$ for all $s > 0$, $t \in [R_1, +\infty)$, and Similarly we can find $R_2 > 0$ such that $h_u(t, s) < 0$ for all $t > 0$, $s \in [R_2, +\infty)$. By applying Miranda's Theorem, there exist $t_\lambda > 0$, $s_\lambda > 0$ such that $g_u(t_\lambda, s_\lambda) = 0 = h_u(t_\lambda, s_\lambda)$, i.e., $t_\lambda u^+ + s_\lambda u^- \in \mathcal{M}$.

Lemma 2.2 If $u \in \mathcal{M}$, then

$$\phi_u(t, s) < \phi_u(1, 1) = \mathcal{J}_\lambda(u), \quad \text{for all } t, s \geq 0 \text{ with } (t, s) \neq (1, 1),$$

where $\phi_u(t, s) := \mathcal{J}_\lambda(tu^+ + su^-)$, $(t, s) \in \mathbb{R}_+^2 := [0, +\infty) \times [0, +\infty)$.

Proof. Since $u \in \mathcal{M}$, then $\langle \mathcal{J}'_\lambda(u), u^\pm \rangle = 0$, that is

$$\|u^+\|^2 - \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy = \int_{\Omega} |u^+|^{2^*} dx + \lambda \int_{\Omega} f(x, u^+)u^+ dx,$$

$$\|u^-\|^2 - \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy = \int_{\Omega} |u^-|^{2^*} dx + \lambda \int_{\Omega} f(x, u^-)u^- dx.$$

From the definition of $\phi_u(t, s)$, it follows that (\bar{t}, \bar{s}) is a critical point of $\phi_u(t, s)$ if and only if $\bar{t}u^+ + \bar{s}u^-$ is a weak solution of (1.1).

Let $t, s \geq 0$, then, by (1.5) and (2.4) we have $\phi_u(0, 0) = 0$ and

$$\phi_u(t, s) = \frac{1}{2} \|tu^+ + su^-\|^2 - \frac{1}{2^*} \int_{\Omega} |tu^+ + su^-|^{2^*} dx - \lambda \int_{\Omega} F(x, tu^+ + su^-) dx \\ \leq \frac{t^2}{2} \|u^+\|^2 + \frac{s^2}{2} \|u^-\|^2 - st \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy \\ - \frac{t^{2^*}}{2^*} \int_{\Omega} |u^+|^{2^*} dx - \frac{s^{2^*}}{2^*} \int_{\Omega} |u^-|^{2^*} dx.$$

Without loss of generality, we can suppose that $t \geq s > 0$. Thus we can get that

$$\phi_u(t, s) \leq \frac{t^2 + s^2}{2} [\|u^+\|^2 + \|u^-\|^2 - \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy] - \frac{t^{2^*}}{2^*} \int_{\Omega} |u^+|^{2^*} dx,$$

that is,

$$\frac{\phi_u(t, s)}{t^2 + s^2} \leq \frac{1}{2} [\|u^+\|^2 + \|u^-\|^2 - \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy] - \frac{t^{2^*-2}}{2 \cdot 2^*} \int_{\Omega} |u^+|^{2^*} dx.$$

Since $2^* > 2$, we can infer that $\lim_{|(t,s)| \rightarrow +\infty} \phi_u(t, s) = -\infty$. By using the continuity of ϕ_u we can deduce the existence of $(\hat{t}, \hat{s}) \in \mathbb{R}_+^2$ that is a global maximum point of ϕ_u , i.e., $\phi_u(\hat{t}, \hat{s}) = \max_{(t,s) \in \mathbb{R}_+^2} \phi_u(t, s)$.

Now we prove that $\hat{t}, \hat{s} > 0$. Suppose by contradiction that $\hat{s} = 0$. But it is obvious that

$$\phi_u(\hat{t}, s) = \frac{\hat{t}^2}{2} \|u^+\|^2 - \frac{\hat{t}^{2^*}}{2^*} \int_{\Omega} |u^+|^{2^*} dx - \lambda \int_{\Omega} F(x, \hat{t}u^+) dx \\ - \hat{t} \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy \\ + \frac{s^2}{2} \|u^-\|^2 - \frac{s^{2^*}}{2^*} \int_{\Omega} |u^-|^{2^*} dx - \lambda \int_{\Omega} F(x, su^-) dx$$

is an increasing function with respect to s if s is small enough, then the pair $(\hat{t}, 0)$ is not a global maximum point of ϕ_u in \mathbb{R}_+^2 , so $\hat{s} > 0$. Similarly we can prove that $\hat{t} > 0$.

Next, we prove that $\hat{t}, \hat{s} \leq 1$. Since $(\phi_u)'_t(\hat{t}, \hat{s}) = (\phi_u)'_s(\hat{t}, \hat{s}) = 0$, we have

$$\begin{aligned} \hat{t}^2 \|u^+\|^2 - \hat{t}\hat{s} \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dxdy &= \hat{t}^{2^*} \int_{\Omega} |u^+|^{2^*} dx + \lambda \int_{\Omega} f(x, \hat{t}u^+) \hat{t}u^+ dx, \\ \hat{s}^2 \|u^-\|^2 - \hat{t}\hat{s} \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dxdy &= \hat{s}^{2^*} \int_{\Omega} |u^-|^{2^*} dx + \lambda \int_{\Omega} f(x, \hat{s}u^-) \hat{s}u^- dx. \end{aligned}$$

Assume that $\hat{t} \geq \hat{s}$, we have

$$\begin{aligned} \hat{t}^2 \|u^+\|^2 - \hat{t}^2 \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dxdy \\ \geq \hat{t}^{2^*} \int_{\Omega} |u^+|^{2^*} dx + \lambda \int_{\Omega} f(x, \hat{t}u^+) \hat{t}u^+ dx. \end{aligned} \quad (2.5)$$

Since $\langle \mathcal{J}'_{\lambda}(u), u^+ \rangle = 0$, that is

$$\|u^+\|^2 - \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dxdy = \int_{\Omega} |u^+|^{2^*} dx + \lambda \int_{\Omega} f(x, u^+) u^+ dx,$$

which together with (2.5) gives

$$0 \geq (\hat{t}^{2^*-2} - 1) \int_{\Omega} |u^+|^{2^*} dx + \lambda \int_{\Omega} \left\{ \frac{f(x, \hat{t}u^+)}{\hat{t}u^+} - \frac{f(x, u^+)}{u^+} \right\} (u^+)^2 dx.$$

By (f_3) we can infer that $\hat{t} \leq 1$, and $\hat{s} \leq \hat{t} \leq 1$.

Finally we prove that $\phi_u(\hat{t}, \hat{s}) < \phi_u(1, 1)$ if $(\hat{t}, \hat{s}) \in [0, 1] \times [0, 1] \setminus \{(1, 1)\}$. By the definition of ϕ_u and the above conclusions we have

$$\begin{aligned} \phi_u(\hat{t}, \hat{s}) &= \mathcal{J}_{\lambda}(\hat{t}u^+ + \hat{s}u^-) = \mathcal{J}_{\lambda}(\hat{t}u^+ + \hat{s}u^-) - \frac{1}{2} \langle \mathcal{J}'_{\lambda}(\hat{t}u^+ + \hat{s}u^-), \hat{t}u^+ + \hat{s}u^- \rangle \\ &= \left(\frac{1}{2} - \frac{1}{2^*}\right) \hat{t}^{2^*} \int_{\Omega} |u^+|^{2^*} dx + \left(\frac{1}{2} - \frac{1}{2^*}\right) \hat{s}^{2^*} \int_{\Omega} |u^-|^{2^*} dx \\ &\quad + \lambda \int_{\Omega} \frac{1}{2} f(x, \hat{t}u^+) \hat{t}u^+ - F(x, \hat{t}u^+) dx + \lambda \int_{\Omega} \frac{1}{2} f(x, \hat{s}u^-) \hat{s}u^- - F(x, \hat{s}u^-) dx \\ &< \left(\frac{1}{2} - \frac{1}{2^*}\right) \int_{\Omega} |u^+|^{2^*} dx + \left(\frac{1}{2} - \frac{1}{2^*}\right) \int_{\Omega} |u^-|^{2^*} dx \\ &\quad + \lambda \int_{\Omega} \frac{1}{2} f(x, u^+) u^+ - F(x, u^+) dx + \lambda \int_{\Omega} \frac{1}{2} f(x, u^-) u^- - F(x, u^-) dx \\ &= \left(\frac{1}{2} - \frac{1}{2^*}\right) \int_{\Omega} |u|^{2^*} dx + \lambda \int_{\Omega} \frac{1}{2} f(x, u) u - F(x, u) dx \\ &= \mathcal{J}_{\lambda}(u) - \frac{1}{2} \langle \mathcal{J}'_{\lambda}(u), u \rangle = \mathcal{J}_{\lambda}(u) = \phi_u(1, 1). \end{aligned}$$

For fixed $\lambda > 0$, let $C_{\lambda} := \inf_{u \in \mathcal{M}} \mathcal{J}_{\lambda}(u)$, then we have the following results.

Lemma 2.3 $C_{\lambda} > 0$ and there exists $D > 0$ such that $\|u^{\pm}\| \geq D$ for all $u \in \mathcal{M}$.

Proof. (1) For $\omega \in E \setminus \{0\}$, by using (2.2) and Lemma 1.1, we have

$$\mathcal{J}_{\lambda}(\omega) \geq \frac{1}{4} \|\omega\|^2 - c_4 \|\omega\|^{2^*} - \lambda c_5 \|\omega\|^q.$$

It follows from $2 < q < 2^*$ that $\inf_{\omega \in S_\rho} \mathcal{J}_\lambda(\omega) > 0$ for sufficiently small $\rho > 0$, where $S_\rho := \{u \in E : \|u\| = \rho\}$.

For each $u \in \mathcal{M}$, there is $t_1 > 0$ such that $t_1 u \in S_\rho$. By Lemma 2.1 and Lemma 2.2, we have

$$\begin{aligned} \mathcal{J}_\lambda(u) &= \mathcal{J}_\lambda(u^+ + u^-) = \max_{(t,s) \in \mathbb{R}_+^2} \mathcal{J}_\lambda(tu^+ + su^-) \\ &\geq \mathcal{J}_\lambda(t_1 u^+ + t_1 u^-) = \mathcal{J}_\lambda(t_1 u) \geq \inf_{\omega \in S_\rho} \mathcal{J}_\lambda(\omega). \end{aligned}$$

Hence, $C_\lambda = \inf_{u \in \mathcal{M}} \mathcal{J}_\lambda(u) \geq \inf_{\omega \in S_\rho} \mathcal{J}_\lambda(\omega) > 0$.

(2) For each $u \in \mathcal{M}$, we have $\langle \mathcal{J}'_\lambda(u), u^\pm \rangle = 0$, so

$$\langle \mathcal{J}'_\lambda(u^\pm), u^\pm \rangle = \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy \leq 0,$$

which together with (2.2) and Lemma 1.1 gives

$$\|u^\pm\|^2 \leq \int_\Omega |u^\pm|^{2^*} dx + \lambda \int_\Omega F(x, u^\pm) dx \leq c_6 \|u^\pm\|^{2^*} + \frac{1}{4} \|u^\pm\|^2 + c_7 \|u^\pm\|^q.$$

Then, $\|u^\pm\|^2 \leq c_8 \|u^\pm\|^r$, where $r = q$ if $\|u^\pm\| < 1$ or $r = 2^*$ if $\|u^\pm\| \geq 1$. Since $r > 2$ we have what we need.

Lemma 2.4 There exists $\lambda_* > 0$ such that for $\lambda > \lambda_*$,

$$0 < C_\lambda < \frac{S}{N} (S_K)^{\frac{N}{2s}},$$

where S_K is the best fractional critical Sobolev constant, namely

$$S_K := \inf_{u \in E \setminus \{0\}} \frac{\|u\|^2}{\|u\|_{2^*}^2}. \quad (2.6)$$

Proof. By Lemma 2.1, for each $\lambda > 0$ and $u \in E$ with $u^\pm \neq 0$, there exists a pair (t_λ, s_λ) of positive numbers such that $t_\lambda u^+ + s_\lambda u^- \in \mathcal{M}$. Namely

$$\begin{aligned} &t_\lambda^2 \|u^+\|^2 - t_\lambda s_\lambda \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy \\ &= t_\lambda^{2^*} \int_\Omega |u^+|^{2^*} dx + \lambda \int_\Omega f(x, t_\lambda u^+) t_\lambda u^+ dx, \end{aligned} \quad (2.7)$$

$$\begin{aligned} &s_\lambda^2 \|u^-\|^2 - t_\lambda s_\lambda \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy \\ &= s_\lambda^{2^*} \int_\Omega |u^-|^{2^*} dx + \lambda \int_\Omega f(x, s_\lambda u^-) s_\lambda u^- dx. \end{aligned} \quad (2.8)$$

By using (2.4), we have

$$\|u^+\|^2 - \frac{s_\lambda}{t_\lambda} \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy \geq t_\lambda^{2^*-2} \int_\Omega |u^+|^{2^*} dx,$$

$$\|u^-\|^2 - \frac{t_\lambda}{s_\lambda} \int_{\mathbb{R}^{2N}} (u^+(x)u^-(y) + u^-(x)u^+(y))K(x-y)dx dy \geq s_\lambda^{2^*-2} \int_\Omega |u^-|^{2^*} dx,$$

which imply that $\{t_\lambda\}$ and $\{s_\lambda\}$ are bounded. Then, for the sequence $\lambda_n \rightarrow \infty$ as $n \rightarrow \infty$, there exist $t_0 \geq 0$, $s_0 \geq 0$ such that $t_{\lambda_n} \rightarrow t_0$ and $s_{\lambda_n} \rightarrow s_0$. If we assume that $t_0 > 0$, it follows from (2.4) that

$$\lim_{n \rightarrow \infty} t_{\lambda_n}^{2^*} \int_{\Omega} |u^+|^{2^*} dx + \lambda_n \int_{\Omega} f(x, t_{\lambda_n} u^+) t_{\lambda_n} u^+ dx = +\infty,$$

which leads to a contradiction with (2.7). Thus, $t_0 = 0$. Similarly we can deduce that $s_0 = 0$. Namely,

$$\lim_{\lambda \rightarrow +\infty} t_\lambda = \lim_{\lambda \rightarrow +\infty} s_\lambda = 0. \quad (2.9)$$

By (1.5), (2.4) and Lemma 2.3, for C_λ we have that choosing $u \in E$ with $u^\pm \neq 0$,

$$0 < C_\lambda \leq \mathcal{J}_\lambda(t_\lambda u^+ + s_\lambda u^-) \leq \frac{1}{2} \|t_\lambda u^+ + s_\lambda u^-\|^2 \leq \frac{1}{2} (t_\lambda \|u^+\| + s_\lambda \|u^-\|)^2.$$

By (2.9), it is easy to see that there exists $\lambda_* > 0$ such that for $\lambda > \lambda_*$, $0 < C_\lambda < \frac{s}{N} (S_K)^{\frac{N}{2s}}$.

3. Proofs of the main results

Proof of Theorem 1.1 For any fixed $\lambda > \lambda_*$, by Lemma 2.4, \mathcal{J}_λ is bounded below over \mathcal{M} . By Ekeland's variational principle, there exists $\{w_n\} \subset \mathcal{M}$ such that

$$\mathcal{J}_\lambda(w_n) \rightarrow C_\lambda \in (0, \frac{s}{N} (S_K)^{\frac{N}{2s}}), \quad \mathcal{J}'_\lambda(w_n) \rightarrow 0. \quad (3.1)$$

Similar to the proof of Proposition 2 in [4], one can prove that $\{w_n\}$ is bounded in E . By (1.7), $\{w_n^+\}$ and $\{w_n^-\}$ are both bounded in E . we can assume that

$$w_n^\pm \rightharpoonup w^\pm \text{ in } E, \quad w_n^\pm \rightarrow w^\pm \text{ in } L^v(\mathbb{R}^N) \quad (2 \leq v < 2^*), \quad w_n^\pm(x) \rightarrow w^\pm(x) \text{ a.e. in } \mathbb{R}^N. \quad (3.2)$$

We can claim that $w_n^\pm \rightarrow w^\pm$ in E . In the following, by contradiction, we assume that $w_n^+ \not\rightarrow w^+$ or $w_n^- \not\rightarrow w^-$ in E . Let $v_n^\pm := w_n^\pm - w^\pm$, then it follows from the Brezis-lieb theorem that

$$\mathcal{Q}(v_n) \rightarrow C_\lambda - \mathcal{J}_\lambda(w), \quad \mathcal{Q}'(v_n^\pm) \rightarrow 0,$$

where $v_n = v_n^+ + v_n^-$, $w = w^+ + w^-$ and $\mathcal{Q}(u) = \frac{1}{2} \|u\|^2 - \frac{1}{2^*} \int_{\Omega} |u|^{2^*} dx$. Since $\mathcal{Q}'(v_n^\pm) \rightarrow 0$, we can get that $\|v_n^\pm\|^2 + o(1) = \int_{\Omega} |v_n^\pm|^{2^*} dx = \|v_n^\pm\|_{2^*}^{2^*}$. On the other hand, it follows from (2.6) that

$$S_K \|v_n^+\|_{2^*}^2 \leq \|v_n^+\|^2 + o(1) = \|v_n^+\|_{2^*}^{2^*} + o(1) \quad \text{or} \quad S_K \|v_n^-\|_{2^*}^2 \leq \|v_n^-\|^2 + o(1) = \|v_n^-\|_{2^*}^{2^*} + o(1),$$

which further implies

$$\|v_n^+\|_{2^*}^{2^*} \geq (S_K)^{\frac{N}{2s}} + o(1) \quad \text{or} \quad \|v_n^-\|_{2^*}^{2^*} \geq (S_K)^{\frac{N}{2s}} + o(1).$$

Similar to the proof of Proposition 2 in [4], we can deduce that $\mathcal{J}_\lambda(w) \geq 0$. Thus,

$$\begin{aligned} C_\lambda + o(1) &\geq C_\lambda + o(1) - \mathcal{J}_\lambda(w) = \mathcal{Q}(v_n) \geq \mathcal{Q}(v_n^+) + \mathcal{Q}(v_n^-) \\ &= \left(\frac{1}{2} - \frac{1}{2^*}\right) \int_{\Omega} |v_n^+|^{2^*} dx + \left(\frac{1}{2} - \frac{1}{2^*}\right) \int_{\Omega} |v_n^-|^{2^*} dx \geq \frac{s}{N} (S_K)^{\frac{N}{2s}} + o(1), \end{aligned}$$

which contradicts with $C_\lambda < \frac{s}{N}(S_K)^{\frac{N}{2s}}$. Hence we have $w_n^\pm \rightarrow w^\pm$ in E . Therefore, by Lemma 1.1, we have

$$\|w_n^\pm\| \rightarrow \|w^\pm\|, \quad \int_\Omega |w_n^\pm|^{2^*} dx \rightarrow \int_\Omega |w^\pm|^{2^*} dx, \quad \int_\Omega f(x, w_n^\pm) w_n^\pm dx \rightarrow \int_\Omega f(x, w^\pm) w^\pm dx. \quad (3.3)$$

By Lemma 2.3, $\|w_n^\pm\| \geq D > 0$, so $\|w^\pm\| \geq D$ and $w^\pm \neq 0$. Thus $w = w^+ + w^-$ is sign-changing. From Lemma 2.1, there exist $t, s > 0$ such that

$$\langle \mathcal{J}'_\lambda(tw^+ + sw^-), tw^+ \rangle = 0, \quad \langle \mathcal{J}'_\lambda(tw^+ + sw^-), sw^- \rangle = 0 \quad (3.4)$$

and $tw^+ + sw^- \in \mathcal{M}$. Since $\{w_n\} \subset \mathcal{M}$, we have $\langle \mathcal{J}'_\lambda(w_n), w_n^\pm \rangle = 0$, by (3.2) and (3.3), we have

$$\langle \mathcal{J}'_\lambda(w), w^+ \rangle = 0, \quad \langle \mathcal{J}'_\lambda(w), w^- \rangle = 0. \quad (3.5)$$

By putting together (3.4) and (3.5), and arguing as in the proof of Lemma 3.2 we can deduce that $t, s \leq 1$.

Since $tw^+ + sw^- \in \mathcal{M}$, $w_n \in \mathcal{M}$, from (2.3), (3.1), (3.4) and $t, s \in (0, 1]$ we can obtain that

$$\begin{aligned} C_\lambda &\leq \mathcal{J}_\lambda(tw^+ + sw^-) = \mathcal{J}_\lambda(tw^+ + sw^-) - \frac{1}{2} \langle \mathcal{J}'_\lambda(tw^+ + sw^-), tw^+ + sw^- \rangle \\ &= \left(\frac{1}{2} - \frac{1}{2^*}\right)t^{2^*} \int_\Omega |w^+|^{2^*} dx + \left(\frac{1}{2} - \frac{1}{2^*}\right)s^{2^*} \int_\Omega |w^-|^{2^*} dx \\ &\quad + \lambda \int_\Omega \frac{1}{2} f(x, tw^+) tw^+ - F(x, tw^+) dx + \lambda \int_\Omega \frac{1}{2} f(x, sw^-) sw^- - F(x, sw^-) dx \\ &\leq \left(\frac{1}{2} - \frac{1}{2^*}\right) \int_\Omega |w^+|^{2^*} dx + \left(\frac{1}{2} - \frac{1}{2^*}\right) \int_\Omega |w^-|^{2^*} dx \\ &\quad + \lambda \int_\Omega \frac{1}{2} f(x, w^+) w^+ - F(x, w^+) dx + \lambda \int_\Omega \frac{1}{2} f(x, w^-) w^- - F(x, w^-) dx \\ &= \lim_{n \rightarrow \infty} \left\{ \left(\frac{1}{2} - \frac{1}{2^*}\right) \int_\Omega |w_n^+|^{2^*} dx + \left(\frac{1}{2} - \frac{1}{2^*}\right) \int_\Omega |w_n^-|^{2^*} dx \right. \\ &\quad \left. + \lambda \int_\Omega \frac{1}{2} f(x, w_n^+) w_n^+ - F(x, w_n^+) dx + \lambda \int_\Omega \frac{1}{2} f(x, w_n^-) w_n^- - F(x, w_n^-) dx \right\} \\ &= \lim_{n \rightarrow \infty} \{ \mathcal{J}_\lambda(w_n) - \frac{1}{2} \langle \mathcal{J}'_\lambda(w_n), w_n \rangle \} = \lim_{n \rightarrow \infty} \mathcal{J}_\lambda(w_n) = C_\lambda. \end{aligned}$$

Therefore, we have proved that $\mathcal{J}_\lambda(tw^+ + sw^-) = C_\lambda$ and $t = s = 1$, that is, $w = w^+ + w^- \in \mathcal{M}$ and $\mathcal{J}_\lambda(w^+ + w^-) = C_\lambda$.

Finally we prove that w is a critical point of \mathcal{J}_λ for $\lambda > \lambda_*$. If w is not a critical point of \mathcal{J}_λ for $\lambda > \lambda_*$, then there are $\alpha_0 < 0$ and $v_0 \in E$ such that $\langle \mathcal{J}'_\lambda(w), v_0 \rangle = 2\alpha_0$. So there is $\delta \in (0, \frac{1}{2})$ such that

$$\langle \mathcal{J}'_\lambda(tw^+ + sw^- + \epsilon v_0), v_0 \rangle \leq \alpha_0, \quad \forall (t, s, \epsilon) \in \{(t, s, \epsilon) : |t - 1| + |s - 1| \leq \delta, 0 \leq \epsilon \leq \delta\}. \quad (3.6)$$

Let $D := \{(t, s) \in \mathbb{R}^2 : |t - 1| \leq \delta, |s - 1| \leq \delta\}$. Choosing a continuous function $\eta : D \rightarrow [0, 1]$ such that

$$\eta(t, s) = \begin{cases} 1, & \text{if } |t - 1| \leq \frac{\delta}{4} \text{ and } |s - 1| \leq \frac{\delta}{4}, \\ 0, & \text{if } |t - 1| \geq \frac{\delta}{2} \text{ or } |s - 1| \geq \frac{\delta}{2}. \end{cases} \quad (3.7)$$

Let $Q(t, s) := tw^+ + sw^- + \delta\eta(t, s)v_0$ and

$$H(t, s) := (\langle \mathcal{J}'_\lambda(Q(t, s)), [Q(t, s)]^+ \rangle, \langle \mathcal{J}'_\lambda(Q(t, s)), [Q(t, s)]^- \rangle), \quad \forall (t, s) \in D.$$

Then $Q \in C(D, E)$ and $H \in C(D, \mathbb{R}^2)$. If $|t - 1| = \delta$ or $|s - 1| = \delta$, $\eta(t, s) = 0$, then $H(t, s) = (\langle \mathcal{J}'_\lambda(tw^+ + sw^-), tw^+ \rangle, \langle \mathcal{J}'_\lambda(tw^+ + sw^-), sw^- \rangle) \neq (0, 0)$ in view of $(t, s) \neq (1, 1)$. As a consequence, the Brouwer's degree $\deg(H, \text{int}(D), (0, 0))$ is well defined. By using the homotopy invariance and the normalization, we have $\deg(H, \text{int}(D), (0, 0)) = 1$. Thus there exists a pair $(\bar{t}, \bar{s}) \in \text{int}(D)$ such that $H(\bar{t}, \bar{s}) = (0, 0)$, so $Q(\bar{t}, \bar{s}) \in \mathcal{M}$ and $\mathcal{J}_\lambda(Q(\bar{t}, \bar{s})) \geq C_\lambda$.

On the other hand, from (3.6) and (3.7) we have

$$\begin{aligned} \mathcal{J}_\lambda(Q(\bar{t}, \bar{s})) &= \mathcal{J}_\lambda(\bar{t}w^+ + \bar{s}w^-) + \int_0^1 \langle \mathcal{J}'_\lambda(\bar{t}w^+ + \bar{s}w^- + \theta\delta\eta(\bar{t}, \bar{s})v_0), \delta\eta(\bar{t}, \bar{s})v_0 d\theta \rangle \\ &\leq \mathcal{J}_\lambda(\bar{t}w^+ + \bar{s}w^-) + \delta\eta(\bar{t}, \bar{s})\alpha_0. \end{aligned} \quad (3.8)$$

If \bar{t} or \bar{s} is not equal to 1, By using Lemma 2.2, the term on the right-hand is strictly less than C_λ . If $\bar{t} = \bar{s} = 1$, by $\eta(\bar{t}, \bar{s}) = 1$ and $\alpha_0 < 0$, we also have a contradiction. Thus, w is a sign-changing of (1.1) for $\lambda > \lambda_*$.

Proof of Theorem 1.2 We take $K(x) = |x|^{-(N+2s)}$, then it is obvious that $K(x)$ satisfies the conditions $(K_1), (K_2)$ and problem (1.1) turns into problem (1.2). By using Lemma 5 in [2], we can obtain that $E \subseteq H^s(\mathbb{R}^N)$. Thus, the assertion of Theorem 1.2 follows from Theorem 1.1.

4. Conclusions

We have established the existence theorems of sign-changing solution for problem (1.1) and problem (1.2) under much weaker conditions (Theorem 1.1 and Theorem 1.2). In comparison with previous works, this paper has several new features. Firstly, we consider the more general nonlinear term without (AR) condition. Secondly, the nonlinear term involves critical growth. Thirdly, we do not require the continuous differentiability of the nonlinear term with respect to the second argument. Finally, the existence of a least energy sign-changing solution is obtained by using constrained minimization method and topological degree theory. Therefore the previous related results in [19, 20] are improved and generalized. There have been no previous studies considering the existence of sign-changing solutions for problem (1.1) and problem (1.2) involving critical growth to the best of our knowledge.

Acknowledgments

We are very grateful to the anonymous referees for their carefully review and valuable suggestions. This research is supported by the National Natural Science Foundation of China (61803236), Natural Science Foundation of Shandong Province (ZR2018MA022).

Conflict of interest

All authors declare no conflicts of interest in this paper.

References

1. D. Applebaum, *Lévy processes and stochastic calculus*, In: *Cambridge Studies in Advanced Mathematics*, Cambridge: Cambridge University Press, 2009.
2. R. Servadei, E. Valdinoci, Mountain pass solutions for non-local elliptic operators, *J. Math. Anal. Appl.*, **389** (2012), 887–898.
3. R. Servadei, E. Valdinoci, Variational methods for non-local operators of elliptic type, *Discrete Cont. Dyn. Syst.*, **33** (2013), 2105–2137.
4. R. Servadei, E. Valdinoci, Fractional Laplacian equations with critical Sobolev exponent, *Rev. Mat. Complut.*, **28** (2015), 655–676.
5. M. Mu, H. Lu, Existence and multiplicity of positive solutions for schrodinger-kirchhoff-poisson system with singularity, *J. Funct. Space.*, **2017** (2017), 1–12.
6. B. Yan, D. Wang, The multiplicity of positive solutions for a class of nonlocal elliptic problem, *J. Math. Anal. Appl.*, **442** (2016), 72–102.
7. H. Lu, Multiple positive solutions for singular semipositone periodic boundary value problems with derivative dependence, *J. Appl. Math.*, **2012** (2012), 857–868.
8. Y. Wang, Y. Liu, Y. Cui, Multiple solutions for a nonlinear fractional boundary value problem via critical point theory, *J. Funct. Space.*, **2017** (2017), 1–8.
9. A. Mao, Z. Zhang, Sign-changing and multiple solutions of Kirchhoff type problems without the P.S. condition, *Nonlinear Anal.*, **70** (2009), 1275–1287.
10. Z. Liu, F. A. Van Heerden, A. Francois, Z. Wang, Nodal type bound states of Schrödinger equations via invariant set and minimax methods, *J. Differ. Equ.*, **214** (2005), 358–390.
11. Z. Zhang, K. Perera, Sign changing solutions of Kirchhoff type problems via invariant sets of descent flow, *J. Math. Anal. Appl.*, **317** (2006), 456–463.
12. H. Lu, X. Zhang, Positive solution for a class of nonlocal elliptic equations, *Appl. Math. Lett.*, **88** (2019), 125–131.
13. Z. Liu, Z. Wang, J. Zhang, Infinitely many sign-changing solutions for the nonlinear Schrödinger-Poisson system, *Ann. Mat. Pur. Appl.*, **195** (2016), 775–794.
14. Y. Wang, Y. Liu, Y. Cui, Multiple sign-changing solutions for nonlinear fractional Kirchhoff equations, *Bound. Value Probl.*, **2018** (2018), 1–21.
15. Z. Liu, J. Sun, Invariant sets of descending flow in critical point theory with applications to nonlinear differential equations, *J. Differ. Equ.*, **172** (2001), 257–299.
16. B. Yan, C. An, The sign-changing solutions for a class of nonlocal elliptic problem in an annulus, *Topol. Method. Nonlinear Anal.*, **55** (2020), 1–18.

-
17. H. Lu, Y. Wang, Y. Liu, Nodal solutions for some second-order semipositone integral boundary value problems, *Abstr. Appl. Anal.*, **2014** (2014), 1–6.
 18. F. Jin, B. Yan, The sign-changing solutions for nonlinear elliptic problem with Carrier type, *J. Math. Anal. Appl.*, **487** (2020), 1–24,
 19. H. Luo, Sign-changing solutions for non-local elliptic equations, *Electron. J. Differ. Equ.*, **180** (2017), 1–15.
 20. H. Lu, X. Qu, J. Wang, Sign-changing and constant-sign solutions for elliptic problems involving nonlocal integro-differential operators, *SN Partial Differ. Equ. Appl.*, **1** (2020), 1–17.



AIMS Press

©2021 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>)